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e) Translate into the set theoretic notation:
Planets are nine

Never will the dead speak.
spefer R A
o e %ﬂw S AT 1|

f) Represent AN~B=A and BN~ >_H A by
Venn Diagram. Express the relation between A
and B.

90 (o @EIBIER MG AN~B=A R
BN~A=A 5997 T4 A OR B @3 N A
AYF O aFH T |

g)  Which of the following statements are true for
all sets A, B and C?

If ACB and BEC then AeC

If A€eBand BCCthen ACC
e qpelE @Wt 7195 A, B, C 396 G101
T2
I ACB @33 BEC wigisl AEC
IM AEB @Rk BCC O ACC

h) Prove the validity of the following by applying
truth tree method :

-A->B..B—=A
j@%%gﬂjm‘%ﬂ

—A=2B..B2>A

467/Phil [27

2. Answer any two questions: 5x2=10
@I §ib &red Ted WS ¢

a) i)

b) i)

467/Phil

_Use truth tree method to verify that the

following pair is logically equivalent:
A<B

(A~ B)&(—A > -B) ,

TopI siow IR e (e A m.ﬂ»mm
T o S 9 e

A<B
(A~>B)&(-A—>-B)

3

Give a counter example to show that the
operation of difference is not in general
distributive with respect to union. 2

g5f5 Rofre qBes ARNE &de @
civerg Rame g=anbs gt e
(union) (ZFI?1(6 LS AL Wﬂmﬂ,ﬁ
< (not a_m:&::ﬁv_

Give definitions and mxm.BEam of e&C.
2

€ g C-¥ W R T WS |

Is the domain of the relation of being a

- grandfather identical set with the domain

of being a father? — show cause. 3
SR T SN DR) IR FIEH
SEIRIRIES U@ﬁﬂgﬂﬁlﬁé © Qawl FIR

. 8 |
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‘Use truth tree method to determine

whether the following is a tautology or
not : o 2

A>(B+C)= (A=B)>(a>0)]

Aol smmfe wegE NaEiRke @b
wose [ ©f ko 52 ¢

A=>(B=C)e [(A-B)->(A-0C)]

Prove that empty set is a subset of every

set. _ 3
AN T (@, ¥ @0 @ @ A7 A
Are the following assumptions mutually
consistent? _

ACC

ANC=A , ‘ 3

ANB#A

TSR wash F o Aol

ACC
ANC=A
ANB#A

Use truth tree method to decide whether

the following are consistent : )

Both OEBB msa Moriarty are guilty %

either is.

[4]

RRGARIRS

If neither is guilty, then Holmes has not
bungled. Unless Holmes has @c:mymm
exactly one of them is guilty.

TP Awfe el S (RIS @ e
Agefere Wy et oitg & @2 s
T (FC G9Few @A 2| I oM (Feg
IR A 2 OIRrE @ Regrae B e |
3 =1 st et 38 <, SR G
Wi 0% @Fem onRt |

3. Answer any. two questions: - 10x2=20
@@V ¥ 2eea Teg wie ¢
a) i) Let A={A,Plato} B 3
Can you give an example of a relation
which is - irreflexive, symmetric and
transitive in A? .
491 AL, A ={A,Plato}
A CIGd SR 936 ol T~
Tz WS [ F-SOTEEF, ANYA 9
&= |
Test the validity of the mo:os::m argument
by Venn UEmBB ' : 4
~AC~(BNC)
- CC~-aA
BC(AU~C)
~(BUC)C~A
467/Phil - [5] . ~ [Turn Over]
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